52. Controlling Multinationals 
1. Fill in the gaps

Many believe that multinational companies are especially hard for ____________________________to control. They can be ‘footloose’, meaning that they are happy to close down operations in one country and start up elsewhere. This gives them the power to threaten an individual government along the lines of: ‘Do what we say or we’ll leave’. A country such as Thailand sees its Honda factory as a crucial part of its long-term economic future. Therefore a threat to quit the country would have real force. It is wrong, though, to ignore the weaknesses in the position of some multinationals. If Nike was not a ________________ brand, it could have carried on buying shoes very cheaply from Cambodia and Vietnam. Customers and ___________________ groups have controlled Nike’s actions quite effectively. In turn, Nike has had to put pressure on their______________________, for example over child labour. It may be that local Cambodian shoe producers need government control rather more than Nike.   Missing words from: suppliers … global … pressure … governments
2. Match the possible problem to the possible solution
	Possible problem
	Ans
	Possible solution

	2.1 Tax avoidance via transfer pricing may give an unfair advantage to large multinational firms compared with smaller local ones
	
	a) Britain could pass a law forbidding any UK company from involvement in military activities anywhere in the world

	2.2 In the recent past UK and US oil companies have given military support to governments in crushing opposition 
	
	b) Local governments have a right to protect the local population, e.g. adverts featuring bikini-clad models would be banned in Saudi Arabia 

	2.3 A chemical company might build a factory in a developing country to lower safety standards than for the equivalent US or European factory
	
	c) Governments need to work together to make that no company can exploit tax loopholes

	2.4 Global marketing of products such as KFC and Starbucks might undermine local traditions and customs, i.e. damage the local culture
	
	d) UK law could enforce common safety standards in all subsidiaries of UK companies (but developing country governments would worry about impact on local jobs)


3. Explain why:
3.1 Newspapers seem to get more upset when a ‘multinational’ causes pollution emissions than when a local company does the same.
______________________________________________________________________________________

______________________________________________________________________________________  
3.2 A developing country might fail to implement its own health and safety laws on a local factory owned by a large multinational.
______________________________________________________________________________________

______________________________________________________________________________________  
4. Agree or Disagree? (Say which one, then briefly state your reason)

	Statement
	Agree or Disagree?

	4.1 A US company that has launched an electric car in America should be forced to offer the same green model in all its overseas markets 
	

	4.2 Any multinational business should be forced to pay the same wage rates overseas as in the home country, to avoid exploitation of labour
	

	4.3 No multinational company should be allowed to donate financially to governments, politicians or political parties  outside the country where its head office is based 
	


52. ANSWERS – Controlling Multinationals
1. governments … global … pressure … suppliers

2.1 c)

2.2 a)

2.3 d)

2.4 b)

3.1 Sometimes it’s zenophobia (fear {or dislike?} of foreigners); sometimes it’s because the assumption is that a non-British firm is more likely to be careless with our environment than a British firm.
3.2 The government may be reluctant to risk driving a ‘footloose’ multinational away, causing job losses

4.1 Agree: perhaps because that appears to be in the best interests of the global environment

Disagree: ‘Forcing’ firms is unlikely to work; if they don’t want to market a car in a particular country (presumably because they think there’s too little demand), forcing won’t help.

4.2 Agree, perhaps on grounds of fairness. Everyone doing the same job deserves to be paid the same.
Disagree, because forcing New Look to pay a Chinese shop worker £15,000 a year would soon drive New Look out of business in China. As foreign employers help developing economies such as China, it would be very unhelpful to make it impossible for them to succeed.

4.3 Agree, because there are too many examples of big businesses buying influence and therefore corrupting the political process.
Disagree, because companies should be allowed to decide for themselves what is morally right or wrong.
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